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E=TET

fE&: A, —(AE. INESERIIMK, BREHPREIARS: [EEVEZ] . TiETFSlinux
golang. docker, kubernetesEXNRZFREFHELIRINE, HIFHRAIKIE, HEi<iA: SERE%
(ERR: REFARS: BAVIGGZ, (E&E: )\Wa)

BIAERN LB E—NERE:

#1/bin/bash

number=10

index=20

aa=%$(( 2#1 << number | index))
echo ${aa}

W7 EERIshell EREMHA?

#HERRMTA?
BIEEAR RIARE? W LET—ABREE, BCM\TRES:

[root@liabio test]#

[root@liabio test]# echo $((2#000))
0

[root@liabio test]# echo $((2#001))
1

[root@liabio test]# echo $((2#010))
2

[root@liabio test]# echo $((2#011))
3

[root@liabio test]# echo $((2#012))
-bash: 2#012: value too great for base (error token is "2#012")
[root@liabio test]# echo $((2#100))
4

[root@liabio test]# echo $((2#101))
5

[root@liabio test]# echo $((2#102))
-bash: 2#102: value too great for base (error token is "2#102")
[root@liabio test]# echo $((2#110))
6

[root@liabio test]# echo $((2#111))
7

[root@liabio test]# echo $((2#1000))
8

[root@liabio test]# echo $((16#ff))
255

[root@liabio test]# echo $((16#1))
1

[root@liabio test]# echo $((16#16))
22

[root@liabio test]# echo $((16#15))
21

[root@liabio test]# echo $((16#10))
16
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[root@liabio test]# echo $((16#9))
?root@liabio test]# echo $((16#a1))
Er?ot@liabio test]# echo $((16#a))
arjc))ot@liabio test]# echo $((16#b))

ALEEIMEREHSIEERR, Blat#biFRadtHIRIbEE I +1EH.

$SOFS(0)

BN, HMEMTHRFIEEN. S35+ -*/%: 258 "IN & 3k B BUWR" . BRF
, bashREEFEEIZE, MWTZREEIFFATRGIERN.

ERFFISR
IS - RIS S RIS

<table>

<tr>
<td>f5Ek </td>
<td>1EzERF</td>
<td>BFREE Y </td>
<td>{HERIfZl</td>
<td>Z&H7M</td>
<td>1gBA</td>

</tr>

<tr>
<td>1</td>
<td>[]</td>
<td>E4H T R</td>
<td>#AE [ BEFRIAR 1</td>
<td>ZEE|G</td>
<td></td>

</tr>

<tr>
<td>1</td>
<td>()</td>
<td>[EFES </td>
<td> (FRix=) / BEE (FFeFk)</td>
<td>7EZE|F</td>
<td></td>

</tr>

<tr>
<td>1</td>
<td>.</td>
<td>BRRIERE (3%) </td>
<td>X45 . RRFE </td>
<td>ZE|G</td>
<td></td>
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</tr>

<tr>
<td>1</td>
<td>-></td>
<td>pRIEE (F88f) </td>
<td>XISIEET -> R </td>
<td>ZEE|/</td>
<td></td>

</tr>

<tr>
<td>2</td>
<td>-</td>
<td>HEEER</td>
<td>- Fx={ </td>
<td>HZF|AL</td>
<td>BEBIzE/</td>

</tr>

<tr>
<td>2</td>
<td>( 28 )</td>
<td> 5B EBIEEHR < /td >
<td>( #uERE ) |k </td>
<td>AZBE</td>
<td></td>

</tr>

<tr>
<td>2</td>
<td>++</td>
<td>BEEEF</td>
<td>++ TER /TEF ++</td>
<td>H[EA</td>
<td>EBHIZERF</td>

</tr>

<tr>
<td>2</td>
<td>--</td>
<td>BRIz&ERF</td>
<td>-- TER / TER --</td>
<td>HE|AE</td>
<td>BEBIzE/</td>

</tr>

<tr>
<td>2</td>
<td>*</td>
<td>BUEEER </td>
<td>* 15§t E </td>
<td>HFEE</td>
<td>EBHIZ&ERF</td>

</tr>

<tr>
<td>2</td>
<td>&</td>
<td>EUtih=E /5 < /td>
<td>& TERF</td>

R
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<td>HF|ZE</td>
<td>EBEzEHRF</td>
</tr>

<tr>

<td>2</td>
<td>!</td>
<td>ZEIEEERF</td>
<td>! Fx=H < /td>
<td>HE|AE</td>
<td>BEBIzE/R</td>
</tr>

<tr>

<td>2</td>

<td>~</td>
<td>R{UBNRIZERF </td>
<td>~ Fx={ </td>
<td>AZBE</td>
<td>EBHIZ&ERF</td>
</tr>

<tr>

<td>2</td>
<td>sizeof</td>
<td>KEEERF</td>
<td>sizeof( FX= )</td>
<td>HEA</td>
<td></td>

</tr>

<tr>

<td>3</td>

<td>/</td>

<td>Pr</td>

<td>ZFikZ / F|A </td>
<td>7ZEG</td>
<td>NWBiEERF</td>
</tr>

<tr>

<td>3</td>

<td>*</td>

<td>3fe</td>

<td>FixD, * TxH </td>
<td>EFH</td>
<td>WEIZ&ERF</td>
</tr>

<tr>

<td>3</td>

<td>%</td>

<td>RE (BUR) </td>
<td>EERIRIAT / BEIRIAT </td >
<td>7EE|/</td>
<td>XWBEERF</td>

</tr>

<tr>

<td>4</td>
<td>+</td>

R
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<td>p0</td>
<td>FRAT + FiAT </td>
<td>ZF|G</td>
<td>XBIzERF</td>
</tr>
<tr>
<td>4</td>
<td>-</td>
<td>jE</td>
<td>FRIXZ - RiXZ </td>
<td>EFH</td>
<td>WHIEERF</td>
</tr>
<tr>
<td>5</td>
<td><<</td>
<td>7AfB</td>
<td>FTE << T </td>
<td>ZEE|/</td>
<td>WHIEER </td>
</tr>
<tr>
<td>5</td>
<td>>></td>
<td>Ha#</td>
<td>Z8 >> FAH </td>
<td>7ZEG</td>
<td>XBIzERF</td>
</tr>
<tr>
<td>6</td>
<td>></td>
<td>AKF</td>
<td>FRILT > RIAH </td>
<td>EFH</td>
<td>WHIEERF</td>
</tr>
<tr>
<td>6</td>
<td>>=</td>
<td>kKFZEF</td>
<td>RIAT >= RIAN </td>
<td>ZEEF|H</td>
<td>WHIEER </td>
</tr>
<tr>
<td>6</td>
<td><</td>
<td>/N\F</td>
<td>FRAT < FixZ</td>
<td>7ZEG</td>
<td>XBIzERF</td>
</tr>
<tr>

R
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<td>6</td>
<td><=</td>
<td>/N\FEF</td>
<td>FXH <= FxH </td>
<td>EFH</td>
<td>WEIE&ERF</td>
</tr>
<tr>
<td>7</td>
<td>==</td>
<td>Z&F</td>
<td>ZFiAT{ == FXH </td>
<td>7ZEG</td>
<td>WEIEERF</td>
</tr>
<tr>
<td>7</td>
<td>!=</td>
<td>AFF</td>
<td>ZFIAZ = FLH </td>
<td>ZF|G</td>
<td>NWBiEERF</td>
</tr>
<tr>
<td>8</td>
<td>&</td>
<td>#ZfI5</td>
<td>FXH & FAH </td>
<td>EFH</td>
<td>WEIZ&ERF</td>
</tr>
<tr>
<td>9</td>
<td>~"</td>
<td>¥E{rFag < /td>
<td>ZFiAZ( » TR </td>
<td>7EE|/</td>
<td>WEIEERF</td>
</tr>
<tr>
<td>10</td>
<td>|</td>
<td>f&fsey < /td >
<td>Zikat | Fikzt</td>
<td>ZF|G</td>
<td>NWBiEERF</td>
</tr>
<tr>
<td>11</td>
<td>&&</td>
<td>ZiE5 </td>
<td>Fix && FL=H </td>
<td>ZEEA/</td>
<td>WEIZ&ERF</td>

R
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</tr>

<tr>
<td>12</td>
<td>||</td>
<td>iBiBak </td>
<td>FRIELR || Jx= </td>
<td>ZEE|/</td>
<td>XWBEERF</td>

</tr>

<tr>
<td>13</td>
<td>7?:</td>
<td>HMH=EERF</td>

<td>FiX, 1? TEH 2: TEAZ 3</td>
<td>HFRE</td>
<td>=BHiz&fF</td>

</tr>

<tr>
<td>14</td>
<td>=</td>
<td>MR{EIZERF</td>
<td>TE = Fixr </td>
<td>HEAE</td>
<td></td>

</tr>

<tr>
<td>14</td>
<td>/=</td>
<td>BRiEME(E </td>
<td>ZEE /= FRXH </td>
<td>HHAE</td>
<td></td>

</tr>

<tr>
<td>14</td>
<td>*=</td>
<td>3eFMWIE</td>
<td>ZEE *= FAH </td>
<td>HFRE</td>
<td></td>

</tr>

<tr>
<td>14</td>
<td>%=</td>
<td>EUEEE </td>
<td>ZTE %= FTEr </td>
<td>HFEE</td>
<td></td>

</tr>

<tr>
<td>14</td>
<td>+=</td>
<td>INEME(E </td>
<td>TE += FErHA </td>
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<td>HEFE</td>
<td></td>

</tr>

<tr>
<td>14</td>
<td>-=</td>
<td>EiEMHE</td>
<td>Z8 -= FRiAT </td>
<td>HEE</td>
<td></td>

</tr>

<tr>
<td>14</td>
<td><<=</td>
<td>ZAEREME</td>
<td>TE <<= FxrH </td>
<td>HFEE</td>
<td></td>

</tr>

<tr>
<td>14</td>
<td>>>=</td>
<td>HEBEMmE</td>
<td>ZFE >>= FKixZ( </td>
<td>HEFE</td>
<td></td>

</tr>

<tr>
<td>14</td>
<td>&=</td>
<td>#R{ISEWE</td>
<td>ZE &= FAH </td>
<td>HEE</td>
<td></td>

</tr>

<tr>
<td>14</td>
<td>~r=</td>
<td>#Z{(URE/EME</td>
<td>ZE8 A= Fxk </td>
<td>AZBE</td>
<td></td>

</tr>

<tr>
<td>14</td>
<td>|=</td>
<td>fZ{UafEE</td>
<td>Z5hk | = FAT </td>
<td>HEFE</td>
<td></td>

</tr>

<tr>
<td>15</td>
<td>,</td>
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<td>1ESizEFF</td>
<td>ZFiA , TAL | ...</td>
<td>ZE|G</td>
<td> NEEBGIRFEE </td>
</tr>
</table>

E—AARRNEER, BEERFHESTRFTRE.
BERICHE: | > BREER > XREEFF > &8 > || >MEEER

SR

#!/bin/bash

number=10

index=20

aa=$(( 2#1 << number | index))
echo ${aa}

110685 F1+2210=1024

10000000000
00000010100

BP10i#HIRY2A2+2704+2710=1044

[root@liabio test]# cat aa.sh
#!/bin/bash

number=10
index=20

aa=$%$((2#1 << number | index))
echo $aa

[root@liabio test]# sh aa.sh
1044

&%

Linux shell ${}, $[1, $
0, [1, )., I IMEBSXE5

CESIEEMLRE

W=E=TE

& IBha, —(RE. INESERVIMK, BREEHFREIARS: [FAVIEEA] . T FSlinux
golang. docker, kubernetesEANRZREFAELIRINE, HIFHRAIKIE, HEiiA: SRk
(GERR: RETFARS: BAVIGGZ, (E&E: )\Wa)
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